
11 

18 CE-0504-MP 0.1 Insulation ignition plug Material <not specified, 100902 

17 4 Nylon rivet 4,1 x 10 100924 

16 Ignition controller "Fenwal" 100424 • 

15 Circuitboard G2 V2 100989 
-

14 Steel cable tie 4,6x520 mm 100258 -

Jl 
13 CE-0204-MA 0.3 Lid and seat assembly 100794 -

12 CE-0251-MA 0.1 Gas regulator with hose 100772 Jl 

11 CE-0441-MA 0.1 Rear cover assembly Gas 101377 

10 Strain relief PA Type 6 100068 

Vibration damper PE LO 45 100288 

G CE-0202-MA 0.1 Outer shell gas w/ display assembly 101029 G 

11 
ISO 14583 

Torx socket pan head screws M4x10 A4-70 100309 
M4x10 e,, Chan ed dale ro,edb Chanedescri lian 

ISO 10511 M4 Lock nut M4 A4-70 100138 

Torx socket pan head screws M4x25 Acier 100310 

4 4 ISO 10511 M6 Locknut M6 A4 100140 
Material Repl;icementtor 

4 Screw ISO 4017 M6x16 A4 100135 realed b� Dale of issue Tolerance 

2 ISO 7093 M6 Large Washer M6 A4 100148 OS Cindefella" Appr.b1 Mas� [g] Projection Scale 

CE-0435-MA 0.1 Gas main assembly 101318 33101 -E}@ H 
Tlld'lnalalilJil 

Defaul 
Tille Sheet Re, lleinNo 

Pas Cinderella Freedom 1/6 0.1 101344 

t/QTY Drawing No Rev. Description Material Item No Drawing numb�r 
no 

CE-0434-MA 

Pump Technology Ltd. UK Authorised Distributor for Cinderella 
0118 9821 555 www.cinderellauk.com

Cinderella Freedom 












